Bid Tabulation Water, Storm Drainage & Pavement Improvements in Stell Avenue and Waxahachie Street Mansfield, Texas

Bid Opening: SEPTEMBER 9, 2014, 2:00 PM McClendon					nst. Co.,INC Quality Excavation LTD			FNH Construction LLC		Stabile & Wynn Inc		
Bid No. 2014-41-04-02 P.O. Box 99				P.O. Box 999		958 US HWY 37	77 Ste200	7 Ste200 4099 McEwen Rd Ste610			P.O. Box 79380	
Jerry P	arche (Consu	Iting Engineers	Burleson Tx 76097	,	Aubrey Tx 7622	27	FarmersBrand	h Tx75224	Saginaw Tx 761	79	
_	Quan		Description	Unit	Total	Unit	Total	Unit	Total	Unit	Total	
DADT	A 14/A7	red i i	NE IMPROVEMENTS									
A-1	495		12" Water Line	\$62.00	\$30.690.00	\$47.00	\$23,265.00	\$40.00	\$19.800.00	\$69.00	\$34,155.00	
A-1 A-2	889		6" Water Line	\$47.00	\$41,783.00	\$33.00	\$23,265.00	\$40.00	\$19,800.00		\$34,155.00	
						ļ		1				
A-3		EA	12" Gave Valve	\$3,050.00	\$6,100.00	\$2,400.00	\$4,800.00	\$3,500.00	\$7,000.00		\$5,600.00	
A-4		EA	6" Gate Valve	\$1,500.00	\$9,000.00	\$1,100.00	\$6,600.00	\$2,500.00	\$15,000.00		\$5,700.00	
A-5		EA	Fire Hydrant Assembly	\$3,800.00	\$7,600.00	\$2,400.00	\$4,800.00	·	\$8,600.00	ļi	\$7,600.00	
A-6		EA	Remove Existing Fire Hydrant	\$500.00	\$1,000.00	\$270.00	\$540.00	\$1,500.00	\$3,000.00		\$320.00	
A-7		TON	Ductile Iron Fittings	\$1,000.00	\$1,200.00	\$9,700.00	\$11,640.00		\$6,000.00		\$9,360.00	
A-8	11		1" Copper Water Serv. & Meter (long)	\$1,200.00	\$13,200.00	\$1,300.00	\$14,300.00		\$13,750.00		\$17,600.00	
A-9	12		1" Copper Water Serv. & Meter (short)	\$700.00	\$8,400.00	\$720.00	\$8,640.00	\$900.00	\$10,800.00		\$13,200.00	
A-10		EA	Cut & Plug Existing Water Line	\$550.00	\$3,300.00	\$240.00	\$1,440.00		\$9,000.00		\$2,700.00	
A-11		EA	Connect to Existing 12" Water Line	\$2,400.00	\$4,800.00	\$2,200.00	\$4,400.00	\$3,500.00	\$7,000.00		\$9,000.00	
A-12		EA	Connect to Existing 6" Water Line	\$1,400.00	\$5,600.00		\$5,200.00	<u> </u>	\$10,000.00		\$9,600.00	
A-13	402		Temporary Asphalt Repair	\$14.00	\$5,628.00	\$6.00	\$2,412.00	·	\$6,030.00		\$4,422.00	
A-14	274		6" Asphalt Paving for Trench Repair	\$22.00	\$6,028.00	\$29.00	\$7,946.00	\$25.00	\$6,850.00		\$21,920.00	
A-15	73	~~~~~~	Reinforced Concrete Valley Gutter	\$60.00	\$4,380.00	\$65.00	\$4,745.00		\$1,095.00		\$8,395.00	
A-16		EA	Remove Existing Gave Valve	\$400.00	\$400.00	\$290.00	\$290.00	\$250.00	\$250.00	\$160.00	\$160.00	
A-17	4	EA	Abandon Existing Gate Valve	\$550.00	\$2,200.00	\$150.00	\$600.00	\$350.00	\$1,400.00	\$160.00	\$640.00	
A-18	6	EA	Adjust Existing Meter to Final Grade	\$100.00	\$600.00	\$65.00	\$390.00	\$250.00	\$1,500.00	\$500.00	\$3,000.00	
A-19	1	LS	Temporary Water Line	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00	\$6,500.00	\$6,500.00	\$6,200.00	\$6,200.00	
A-20	1384	LF	FI&R Shoring, Trench Jacks & Boxes	\$1.00	\$1,384.00	\$0.70	\$968.80	\$3.00	\$4,152.00	\$0.05	\$69.20	
A-21	568	SY	Topsoil for Water Line Construction	\$2.00	\$1,136.00	\$11.00	\$6,248.00	\$4.00	\$2,272.00	\$3.50	\$1,988.00	
A-22	568	SY	Sod Disturbed Areas & Establish	\$3.50	\$1,988.00	\$3.50	\$1,988.00	\$5.00	\$2,840.00	\$3.45	\$1,959.60	
TOTA	AL WAT	TER LI	NE IMPROVEMENTS		\$157,417.00		\$155,549.80		\$169,509.00		\$207,149.80	
	,		RAIN IMPROVEMENTS									
B-1	205		36" Class III Reinf. Concrete Pipe	\$160.00	\$32,800.00	\$140.00	\$28,700.00	\$85.00	\$17,425.00		\$29,520.00	
B-2	292		30" Class III Reinf. Concrete Pipe	\$130.00	\$37,960.00	\$92.00	\$26,864.00	\$80.00	\$23,360.00		\$32,704.00	
B-3	434		24" Class III Reinf. Concrete Pipe	\$115.00	\$49,910.00	\$63.00	\$27,342.00	\$53.00	\$23,002.00		\$41,230.00	
B-4	142		21" Class IIII Reinf. Concrete Pipe	\$105.00	\$14,910.00	\$63.00	\$8,946.00	\$60.00	\$8,520.00		\$12,922.00	
B-5	36		18' Class III Reinf. Concrete Pipe	\$95.00	\$3,420.00	\$60.00	\$2,160.00	\$45.00	\$1,620.00		\$2,880.00	
B-6	4	EA	20 ft. Standard Curb Inlet	\$5,550.00	\$22,200.00	\$4,700.00	\$18,800.00	\$5,500.00	\$22,000.00	\$6,700.00	\$26,800.00	
B-7		EA	15 ft. Standard Curb Inlet	\$4,500.00	\$9,000.00	\$4,400.00	\$8,800.00	\$3,500.00	\$7,000.00	\$5,500.00	\$11,000.00	
B-8		EA	10 ft. Standard Curb Inlet	\$3,200.00	\$6,400.00	\$3,500.00	\$7,000.00	\$3,000.00	\$6,000.00		\$7,200.00	
B-9		EA	4 ft. X 4 ft. Std. Storm Drain Manhole	\$4,850.00	\$4,850.00	\$4,700.00	\$4,700.00	\$4,500.00	\$4,500.00		\$3,900.00	
B-10		EA	Install Type 'P' Headwall for 24" RCP	\$4,100.00	\$4,100.00	\$1,600.00	\$1,600.00		\$3,500.00		\$2,300.00	
B-11		EA	Connect to Ex. 36" RCP	\$3,000.00	\$3,000.00	\$1,200.00	\$1,200.00	\$1,150.00	\$1,150.00	\$600.00	\$600.00	
B-12	752		Temporary Asphalt Repair	\$14.00	\$10,528.00	\$6.00	\$4,512.00	\$15.00	\$11,280.00	\$19.00	\$14,288.00	
B-13	344	LF	6" Asphalt Paving for Trench Repair	\$25.00	\$8,600.00	\$25.00	\$8,600.00	\$25.00	\$8,600.00	\$110.00	\$37,840.00	
B-14	40	LF	Concrete Encase Ex. 6" San. Sewer	\$50.00	\$2,000.00	\$23.00	\$920.00	\$85.00	\$3,400.00	\$60.00	\$2,400.00	
B-15	9	SY	Reinf. Concrete Riprap	\$200.00	\$1,800.00	\$170.00	\$1,530.00	\$100.00	\$900.00	\$180.00	\$1,620.00	
B-16	30	LF	Ditch Grading	\$30.00	\$900.00	\$9.00	\$270.00	\$50.00	\$1,500.00	\$24.00	\$720.00	
B-17	1	LS	Rem. Ex. Headwall & Plug Ex. 36" RCP	\$900.00	\$900.00	\$210.00	\$210.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	
B-18	1109	LF	RI&R Shoring, Trench Jacks & Boxes	\$1.00	\$1,109.00	\$0.70	\$776.30	\$3.00	\$3,327.00	\$1.00	\$1,109.00	
B-19	161	~~~~~~	Topsoil for Drainage Improvements	\$2.00	\$322.00	\$11.00	\$1,771.00		\$644.00	·	\$563.50	
B-20	161		Sod Disturbed Areas & Establish	\$3.50	\$563.50	\$3.50	\$563.50	·	\$805.00		\$555.4	
			RAIN IMPROVEMENTS		\$215,272.50		\$155,264.80	<u> </u>	\$151,033.00		\$231,151.9	

Bid Tabulation Water, Storm Drainage & Pavement Improvements in Stell Avenue and Waxahachie Street Mansfield, Texas Bid Opening: SEPTEMBER 9, 2014, 2:00 PM McClendon Const. Co.,INC Quality Excavation LTD **FNH Construction LLC** Stabile & Wynn Inc Bid No. 2014-41-04-02 P.O. Box 999 958 US HWY 377 Ste200 4099 McEwen Rd Ste610 P.O. Box 79380 Jerry Parche Consulting Engineers Burleson Tx 76097 Aubrey Tx 76227 FarmersBranch Tx75224 Saginaw Tx 76179 Item Quan Unit Description Unit Total Unit Total Unit Unit Total PART C - PAVING IMPROVEMENTS \$10,000.00 1 LS Mobilization \$16,500.00 \$16,500.00 \$24,000.00 \$24,000.00 \$60,000.00 \$60,000.00 \$10,000.00 C-2 1 LS P&I Traffic Control Plan \$9,500.00 \$9,500.00 \$10,000.00 \$10,000.00 \$10,000.00 \$10,000.00 \$7,000.00 \$7,000.00 C-3 P&I SWPPP \$1,700.00 \$1,000.00 \$1,000.00 1 LS \$3,900.00 \$3,900.00 \$1,700.00 \$5,000.00 \$5,000.00 C-4 1 LS Right-of-Way Preparation \$11.500.00 \$11,500.00 \$2.000.00 \$2,000.00 \$30,000.00 \$30,000.00 \$36,725.00 \$36,725.00 C-5 \$5,000.00 \$2,100.00 \$5,000.00 \$5,000.00 1 LS Pre-Construction TV of Ex. SS \$5,000.00 \$2,100.00 \$3,500.00 \$3,500.00 \$6,498.00 \$18,050.00 C-6 722 CY Unclassified Street Excavation \$25.00 \$18,050.00 \$9.00 \$16.00 \$11,552.00 \$25.00 C-7 943 SY \$8,487.00 R & D of Ex. Conc. Pavement \$10.00 \$9,430.00 \$7.00 \$6,601.00 \$12.00 \$11,316.00 \$9.00 C-8 2952 SY R & D of Ex. Asphalt Pavement \$5.00 \$14,760.00 \$8.00 \$23,616.00 \$12.00 \$35,424.00 \$5.00 \$14,760.00 C-9 1269 LF R & D of Ex. Curb & Gutter \$2.50 \$3,172.50 \$4.10 \$5,202.90 \$8.00 \$10,152.00 \$2.00 \$2,538.00 C-10 \$2.50 \$7.00 \$2.75 \$9,770.75 3553 SY 8" Subgrade Stabilization w/Lime \$8,882.50 \$24,871.00 \$3.00 \$10,659.00 \$160.00 C-11 65 TON Hydrated Lime for Base Preparation \$150.00 \$9,750.00 \$10,400.00 \$160.00 \$10,400.00 \$160.00 \$10,400.00 2941 SY C-12 \$33.00 \$37.00 \$108,817.00 \$35.00 \$102,935.00 \$34.00 \$99,994.00 6" Reinf. Concrete Pavement w/curb \$97,053.00 C-13 43 SY \$62.00 \$2,666.00 \$62.00 \$2,666.00 \$45.00 \$76.50 \$3,289.50 7" Reinf. Concrete Driveway w/curb \$1,935.00 C-14 681 SY 6" Reinf. Concrete Driveway w/curb \$58.00 \$39,498.00 \$86.00 \$58,566.00 \$40.00 \$27,240.00 \$67.50 \$45.967.50 C-15 267 LF \$20.00 \$15.00 \$8,010.00 Reinf concrete Curb & Gutter \$5,340.00 \$4,005.00 \$18.00 \$4,806.00 \$30.00 C-16 32 SY 4" concrete Walkway \$50.00 \$1.600.00 \$51.00 \$1,632.00 \$35.00 \$1,120.00 \$54.00 \$1,728.00 C-17 351 SY 6" HMAC Transition Pavement \$45.00 \$15,795.00 \$45.00 \$15,795.00 \$56.00 \$19,656.00 \$58.00 \$20,358.00 C-18 6 EA Rem. & Reconst. Brick Mailbox \$500.00 \$3,000.00 \$1,125.00 \$6,750.00 \$650.00 \$3,900.00 \$500.00 \$3,000.00 C-19 \$100.00 \$260.00 \$750.00 \$600.00 \$1,200.00 2 EA Adj. Manhole Rim & Replace Lid \$200.00 \$520.00 \$1,500.00 C-20 1 LS \$1,200.00 \$1,200.00 \$920.00 \$920.00 \$1,500.00 \$1,500.00 \$1,250.00 \$1,250.00 Remove & Replace Gate C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$250.00 \$250.00 \$90.00 \$90.00 \$750.00 \$750.00 \$350.00 \$350.00 C-22 500 TON \$500.00 \$17.00 \$8,500.00 \$20.00 \$10,000.00 \$7,125.00 Temp. Crushed Stone for Temp. Drives \$1.00 \$14.25 C-23 2080 SY Topsoil for Street & Driveway Recon. \$2.00 \$4.160.00 \$11.00 \$22.880.00 \$4.00 \$8,320.00 \$3.50 \$7,280.00 \$7,280.00 C-24 2080 SY Sod Disturbed Areas & Establish \$3.50 \$7,280.00 \$3.50 \$5.00 \$10,400.00 \$3.45 \$7,176.00 C-25 3 EA Remove & Replace Street Sign \$375.00 \$1,125.00 \$250.00 \$750.00 \$500.00 \$1,500.00 \$350.00 \$1,050.00 TOTAL PAVING IMPROVEMENTS \$290,112.00 \$356,159.90 \$393,565.00 \$331,508.75 TOTAL BID \$662,801.50 \$666,974.50 \$714,107.00 \$769,810.50

		Wator	Bid , Storm Drainage & Pavement Impro	Tabulation	I Avenue and V	Vavahachia Str	oot
		vvalei	·	sfield, Texas	i Avenue anu v	vaxanacine Su	eet
Bid O	pening:	SEPT	EMBER 9, 2014, 2:00 PM	A&M Const.& Uti	lities INC	XIT Paving & Co	onst. Inc
Bid No	o. 2014-	41-04-	02	4950 Grisham Dr		3934 S HWY 28	
Jerry I			Ilting Engineers	Rowlett Tx 75088	3	Waxahachie Tx	75165
Item	Quan	Unit	Description	Unit	Total	Unit	Total
PART	A - WA	TER LI	INE IMPROVEMENTS				
A-1	495	LF	12" Water Line	\$51.00	\$25,245.00	\$51.64	\$25,561.80
A-2	889	LF	6" Water Line	\$32.00	\$28,448.00	\$36.63	\$32,564.07
A-3	2	EA	12" Gave Valve	\$2,720.00	\$5,440.00	\$2,351.45	\$4,702.90
A-4	6	EA	6" Gate Valve	\$1,090.00	\$6,540.00	\$1,163.45	\$6,980.70
A-5	2	EA	Fire Hydrant Assembly	\$3,000.00	\$6,000.00	\$3,228.76	\$6,457.52
A-6	2	EA	Remove Existing Fire Hydrant	\$350.00	\$700.00	\$1,034.26	\$2,068.52
A-7	1.2	TON	Ductile Iron Fittings	\$8,550.00	\$10,260.00	\$7,116.69	\$8,540.03
A-8	11	EA	1" Copper Water Serv. & Meter (long)	\$1,244.00	\$13,684.00	\$1,361.20	\$14,973.20
A-9	12	EA	1" Copper Water Serv. & Meter (short)	\$800.00	\$9,600.00	\$767.22	\$9,206.64
A-10	6	EA	Cut & Plug Existing Water Line	\$400.00	\$2,400.00	\$673.85	\$4,043.10
A-11	2	EA	Connect to Existing 12" Water Line	\$1,200.00	\$2,400.00	\$2,618.79	\$5,237.58
A-12	4	EA	Connect to Existing 6" Water Line	\$1,000.00	\$4,000.00	\$1,990.75	\$7,963.00
A-13	402	LF	Temporary Asphalt Repair	\$19.00	\$7,638.00	\$19.26	\$7,742.52
A-14	274	LF	6" Asphalt Paving for Trench Repair	\$57.00	\$15,618.00	\$80.62	\$22,089.88
A-15	73	SY	Reinforced Concrete Valley Gutter	\$104.00	\$7,592.00	\$58.65	\$4,281.45
A-16	1	EA	Remove Existing Gave Valve	\$400.00	\$400.00	\$309.00	\$309.00
A-17	4	EA	Abandon Existing Gate Valve	\$300.00	\$1,200.00	\$454.72	\$1,818.88
A-18	6	EA	Adjust Existing Meter to Final Grade	\$150.00	\$900.00	\$244.85	\$1,469.10
A-19	1	LS	Temporary Water Line	\$6,400.00	\$6,400.00	\$13,445.14	\$13,445.14
A-20	1384	LF	FI&R Shoring, Trench Jacks & Boxes	\$1.00	\$1,384.00	\$1.00	\$1,384.00
A-21	568	SY	Topsoil for Water Line Construction	\$8.50	\$4,828.00	\$4.66	\$2,646.88
A-22	568	·	Sod Disturbed Areas & Establish	\$7.00	\$3,976.00	\$4.20	\$2,385.60
тот	AL WA	TER LI	NE IMPROVEMENTS		\$164,653.00		\$185,871.51
PART	B - STC	DRM D	RAIN IMPROVEMENTS				
B-1	205	y	36" Class III Reinf. Concrete Pipe	\$115.50	\$23,677.50	\$130.71	\$26,795.55
B-2	292		30" Class III Reinf. Concrete Pipe	\$73.00	\$21,316.00	\$103.99	\$30,365.08
B-3	434	<u> </u>	24" Class III Reinf. Concrete Pipe	\$55.00	\$23,870.00	\$71.10	\$30,857.40
B-4	142	<u> </u>	21" Class IIII Reinf. Concrete Pipe	\$50.50	\$7,171.00	\$76.54	\$10,868.68
B-5	-	LF	18' Class III Reinf. Concrete Pipe	\$48.00	\$1,728.00	\$77.46	\$2,788.56
B-6	-	EΑ	20 ft. Standard Curb Inlet	\$5,565.00	\$22,260.00	\$6,597.11	\$26,388.44
B-7	<u> </u>	EA	15 ft. Standard Curb Inlet	\$4,410.00	\$8,820.00	\$5,536.03	\$11,072.06
B-8		EΑ	10 ft. Standard Curb Inlet	\$3,335.00	\$6,670.00	\$4,016.72	\$8,033.44
B-9	1	EA	4 ft. X 4 ft. Std. Storm Drain Manhole	\$3,140.00	\$3,140.00	\$4,947.21	\$4,947.21
B-10	1	EA	Install Type 'P' Headwall for 24" RCP	\$1,680.00	\$1,680.00	\$2,625.49	\$2,625.49
B-11	1	EΑ	Connect to Ex. 36" RCP	\$450.00	\$450.00	\$1,115.08	\$1,115.08
B-12	752		Temporary Asphalt Repair	\$22.00	\$16,544.00	\$25.45	\$19,138.40
B-13	344	·	6" Asphalt Paving for Trench Repair	\$59.00	\$20,296.00		\$44,479.20
B-14	40	LF	Concrete Encase Ex. 6" San. Sewer	\$65.00	\$2,600.00	\$53.33	\$2,133.20
B-15		SY	Reinf. Concrete Riprap	\$105.00	\$945.00	\$140.73	\$1,266.57
B-16		LF	Ditch Grading	\$10.00	\$300.00	\$32.74	\$982.20
B-17		LS	Rem. Ex. Headwall & Plug Ex. 36" RCP	\$550.00	\$550.00	\$2,049.46	\$2,049.46
B-18	1109	}	RI&R Shoring, Trench Jacks & Boxes	\$1.00	\$1,109.00	\$1.00	\$1,109.00
B-19	161	}	Topsoil for Drainage Improvements	\$8.50	\$1,368.50	 	\$922.53
B-20	161	,	Sod Disturbed Areas & Establish	\$7.00	\$1,127.00		\$676.20
************		d	RAIN IMPROVEMENTS		\$165,622.00	, ,	\$228,613.75

C-2 1 LS P&I Traffic Control Plan \$10,700.00 \$10,700.00 \$27,035.00 \$27,035.00 C-3 1 LS P&I SWPPP \$7,900.00 \$7,900.00 \$2,875.00 \$2,875.00 C-4 1 LS Right-of-Way Preparation \$9,200.00 \$9,200.00 \$17,408.87 \$17,40 C-5 1 LS Pre-Construction TV of Ex. SS \$13,500.00 \$13,500.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$17,05 \$12,31 \$12,31 \$10,40 \$9,80 \$10,40 \$9,80 \$10,40 \$9,80 \$23,616.00 \$8,09 \$23,88 \$295.20 \$Y R.8.D of Ex. Conc. Pavement \$9,00 \$8,487.00 \$10,40 \$9,80 \$23,616.00 \$8,09 \$23,88 \$23,616.00 \$8,09 \$23,88 \$23,616.00 \$8,09 \$23,88 \$23,616.00 \$8,09 \$23,88 \$23,88 \$23,616.00 \$10,57 \$13,41 \$2,00 \$11,22 \$1,22 \$1,22					Tabulation				
Bid No. 2014-41-04-02 4950 Grisham Dr 3934 S HWY 287 Jerry Parche Consulting Engineers Rowlett Tx 75088 Waxahachie Tx 75165 Item Quan Unit Description Unit Total Unit Total PART C - PAVING IMPROVEMENTS			Water			ell Avenue and V	Vaxahachie Str	eet	
Jerry Parche Consulting Engineers Rowlett Tx 75088 Waxahachie Tx 75165 Item Quan Unit Description Unit Total Unit Unit Total Unit Total Unit Unit	Bid O	pening:	SEPT	EMBER 9, 2014, 2:00 PM	A&M Const.& U	tilities INC	XIT Paving & Co	onst. Inc	
Rem Quan Unit Description Unit Total Unit Total Unit Total	Bid No	o. 2014-	41-04-	02	4950 Grisham D	r			
PART C - PAVING IMPROVEMENTS	Jerry	Parche	Consu	Ilting Engineers	Rowlett Tx 7508	8	Waxahachie Tx 75165		
C-1 1 LS Mobilization \$17,500.00 \$17,500.00 \$125,995.00 \$125,995.00 C-2 1 LS P&I Traffic Control Plan \$10,700.00 \$10,700.00 \$27,035.00 \$27,035.00 C-3 1 LS P&I SWPPP \$7,900.00 \$7,900.00 \$2,875.00 \$2,875.00 C-4 1 LS Right-of-Way Preparation \$9,200.00 \$9,200.00 \$17,408.87 \$17,40 C-5 1 LS Pre-Construction TV of Ex. SS \$13,500.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$10,400.00 \$9,050.00 \$10,400.00 \$10,577 \$13,400.00 \$14,050.00					Unit	Total	Unit	Total	
C-1 1 LS Mobilization \$17,500.00 \$17,500.00 \$125,995.00 \$125,995.00 C-2 1 LS P&I Traffic Control Plan \$10,700.00 \$10,700.00 \$27,035.00 \$27,035.00 C-3 1 LS P&I SWPPP \$7,900.00 \$7,900.00 \$2,875.00 \$2,875.00 C-4 1 LS Right-of-Way Preparation \$9,200.00 \$9,200.00 \$17,408.87 \$17,40 C-5 1 LS Pre-Construction TV of Ex. SS \$13,500.00 \$13,500.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$10,400.00 \$10,400.00 \$10,57 \$13,41 \$10,57 \$13,41 \$10,5	PART	C - PA	/ING II	MPROVEMENTS					
C-2 1 LS P&I Traffic Control Plan \$10,700.00 \$10,700.00 \$27,035.00 \$27,035.00 \$27,035.00 \$27,035.00 \$27,035.00 \$27,035.00 \$22,035.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,875.00 \$2,975.00 \$2,987.00 \$2,987.00 \$2,987.00 \$2,987.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00 \$2,988.00		-γ	γ		\$17 500 00	\$17 500 00	\$125 995 00	\$125,995.00	
C-3 1 LS P&I SWPPP \$7,900.00 \$7,900.00 \$2,875.00 \$2,875.00 C-4 1 LS Right-of-Way Preparation \$9,200.00 \$9,200.00 \$17,408.87 \$17,40 C-5 1 LS Pre-Construction TV of Ex. SS \$13,500.00 \$13,500.00 \$8,050.00 \$8,05 C-6 722 CY Unclassified Street Excavation \$14.00 \$10,108.00 \$17.05 \$12,31 C-7 943 SY R & D of Ex. Conc. Pavement \$9.00 \$8,487.00 \$10.40 \$9,80 C-8 2952 SY R & D of Ex. Carb & Gutter \$5.00 \$6,345.00 \$10.57 \$13,41 C-10 3553 SY 8 D of Ex. Curb & Gutter \$5.00 \$17,765.00 \$4.02 \$14,28 C-11 65 TON Hydrated Lime for Base Preparation \$200.00 \$13,000.00 \$148.50 \$9,65 C-12 2941 SY 6" Reinf. Concrete Driveway W/curb \$64.00 \$188,224.00 \$38.43 \$113.02			£				ļi	\$27,035.00	
C-4 1 LS Right-of-Way Preparation \$9,200.00 \$9,200.00 \$17,408.87 \$17,40 C-5 1 LS Pre-Construction TV of Ex. SS \$13,500.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$8,050.00 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$13,00 \$10,40 \$10,40 \$10,40 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$12,31 \$13,41 \$13,41			<u> </u>				<u> </u>	\$2,875.00	
C-5 1 LS Pre-Construction TV of Ex. SS \$13,500.00 \$13,500.00 \$8,050.00 \$8,050.00 C-6 722 CY Unclassified Street Excavation \$14.00 \$10,108.00 \$17.05 \$12,31 C-7 943 SY R & D of Ex. Conc. Pavement \$9.00 \$8,487.00 \$10.40 \$9.80 C-8 2952 SY R & D of Ex. Asphalt Pavement \$8.00 \$23,616.00 \$8.09 \$23,88 C-9 1269 LF R & D of Ex. Curb & Gutter \$5.00 \$17,765.00 \$4.02 \$14,28 C-10 3553 SY 8" Subgrade Stabilization w/Lime \$5.00 \$17,765.00 \$4.02 \$14,28 C-11 65 TON Hydrated Lime for Base Preparation \$200.00 \$13,000.00 \$148.50 \$9,65 C-12 2941 SY 6" Reinf. Concrete Pavement w/curb \$64.00 \$188,224.00 \$38.43 \$113,02 C-13 43 SY 7" Reinf. Concrete Driveway w/curb \$72.00 \$49,032.00 \$48.13			<u> </u>					\$17,408.87	
C-6 722 CY Unclassified Street Excavation \$14.00 \$10,108.00 \$17.05 \$12,31 C-7 943 SY R & D of Ex. Conc. Pavement \$9.00 \$8,487.00 \$10.40 \$9,80 C-8 2952 SY R & D of Ex. Curb & Gutter \$5.00 \$6,345.00 \$10.57 \$13,41 C-10 3553 SY 8" Subgrade Stabilization w/Lime \$5.00 \$17,765.00 \$4.02 \$14,28 C-11 65 TON Hydrated Lime for Base Preparation \$200.00 \$13,000.00 \$148.50 \$9,65 C-12 2941 SY 6" Reinf. Concrete Pavement w/curb \$64.00 \$188,224.00 \$38.43 \$113,02 C-13 43 SY 7" Reinf. Concrete Driveway w/curb \$69.00 \$2,967.00 \$60.63 \$2,60 C-14 681 SY 6" Reinf. Concrete Driveway w/curb \$72.00 \$49,032.00 \$48.13 \$32,77 C-15 267 LF Reinf concrete Curb & Gutter \$8.50 \$2,269.50 \$31.36 \$8,37 C-16 32 SY 4" concrete Walkway \$48.00 \$			A					\$8,050.00	
C-7 943 SY R & D of Ex. Conc. Pavement \$9.00 \$8,487.00 \$10.40 \$9,80 C-8 2952 SY R & D of Ex. Asphalt Pavement \$8.00 \$23,616.00 \$8.09 \$23,88 C-9 1269 LF R & D of Ex. Curb & Gutter \$5.00 \$6,345.00 \$10.57 \$13,41 C-10 3553 SY 8" Subgrade Stabilization w/Lime \$5.00 \$17,765.00 \$4.02 \$14,28 C-11 65 TON Hydrated Lime for Base Preparation \$200.00 \$13,000.00 \$148.50 \$9,65 C-12 2941 SY 6" Reinf. Concrete Pavement W/curb \$64.00 \$188,224.00 \$38.43 \$113,02 C-13 43 SY 7" Reinf. Concrete Driveway w/curb \$69.00 \$2,967.00 \$60.63 \$2,60 C-14 681 SY 6" Reinf. Concrete Driveway w/curb \$72.00 \$49,032.00 \$48.13 \$32,77 C-15 267 LF Reinf concrete Curb & Gutter \$8.50 \$2,269.50 \$31.36 \$8,37 C-16 32 SY 4" concrete Walkway \$48.00 \$1,							ļ	\$12,310.10	
C-8 2952 SY R & D of Ex. Asphalt Pavement \$8.00 \$23,616.00 \$8.09 \$23,88 C-9 1269 LF R & D of Ex. Curb & Gutter \$5.00 \$6,345.00 \$10.57 \$13,41 C-10 3553 SY 8" Subgrade Stabilization w/Lime \$5.00 \$17,765.00 \$4.02 \$14,28 C-11 65 TON Hydrated Lime for Base Preparation \$200.00 \$13,000.00 \$148.50 \$9,65 C-12 2941 SY 6" Reinf. Concrete Pavement W/curb \$64.00 \$188,224.00 \$38.43 \$113,02 C-13 43 SY 7" Reinf. Concrete Driveway W/curb \$69.00 \$2,967.00 \$60.63 \$2,60 C-14 681 SY 6" Reinf. Concrete Driveway W/curb \$72.00 \$49,032.00 \$48.13 \$32,77 C-15 267 LF Reinf concrete Driveway W/curb \$72.00 \$49,032.00 \$48.13 \$32,77 C-15 267 LF Reinf concrete Curb & Gutter \$8.50 \$2,269.50 \$31.36	C-7	943	SY	R & D of Ex. Conc. Pavement	\$9.00		\$10.40	\$9,807.20	
C-9 1269 LF R & D of Ex. Curb & Gutter \$5.00 \$6,345.00 \$10.57 \$13,41 C-10 3553 SY 8" Subgrade Stabilization w/Lime \$5.00 \$17,765.00 \$4.02 \$14,28 C-11 65 TON Hydrated Lime for Base Preparation \$200.00 \$13,000.00 \$148.50 \$9,65 C-12 2941 SY 6" Reinf. Concrete Pavement w/curb \$64.00 \$188,224.00 \$38.43 \$113,02 C-13 43 SY 7" Reinf. Concrete Driveway w/curb \$69.00 \$2,967.00 \$60.63 \$2,60 C-14 681 SY 6" Reinf. Concrete Driveway w/curb \$72.00 \$49,032.00 \$48.13 \$32,77 C-15 267 LF Reinf concrete Curb & Gutter \$8.50 \$2,269.50 \$31.36 \$8.37 C-16 32 SY 4" concrete Walkway \$48.00 \$1,536.00 \$41.45 \$1,32 C-17 351 SY 6" HMAC Transition Pavement \$50.00 \$17,550.00 \$51.35 \$18,02 C-18 6 EA Rem. & Reconst. Brick Mailbox \$975.00	C-8	2952	SY	R & D of Ex. Asphalt Pavement	\$8.00		\$8.09	\$23,881.68	
C-10 3553 SY 8" Subgrade Stabilization w/Lime \$5.00 \$17,765.00 \$4.02 \$14,28 C-11 65 TON Hydrated Lime for Base Preparation \$200.00 \$13,000.00 \$148.50 \$9,65 C-12 2941 SY 6" Reinf. Concrete Pavement w/curb \$64.00 \$188,224.00 \$38.43 \$113,02 C-13 43 SY 7" Reinf. Concrete Driveway w/curb \$69.00 \$2,967.00 \$60.63 \$2,60 C-14 681 SY 6" Reinf. Concrete Driveway w/curb \$72.00 \$49,032.00 \$48.13 \$32,77 C-15 267 LF Reinf concrete Curb & Gutter \$8.50 \$2,269.50 \$31.36 \$8,37 C-16 32 SY 4" concrete Walkway \$48.00 \$1,536.00 \$41.45 \$1,32 C-17 351 SY 6" HMAC Transition Pavement \$50.00 \$1,550.00 \$51.35 \$18,02 C-18 6 EA Rem. & Reconst. Brick Mailbox \$975.00 \$5,850.00 \$1,440.00 \$8,64 C-20 1 LS Remove & Replace Gate \$1,400.00 \$4			<u> </u>					\$13,413.33	
C-11 65 TON Hydrated Lime for Base Preparation \$200.00 \$13,000.00 \$148.50 \$9,65 C-12 2941 SY 6" Reinf. Concrete Pavement w/curb \$64.00 \$188,224.00 \$38.43 \$113,02 C-13 43 SY 7" Reinf. Concrete Driveway w/curb \$69.00 \$2,967.00 \$60.63 \$2,60 C-14 681 SY 6" Reinf. Concrete Driveway w/curb \$72.00 \$49,032.00 \$48.13 \$32,77 C-15 267 LF Reinf concrete Curb & Gutter \$8.50 \$2,269.50 \$31.36 \$8,37 C-16 32 SY 4" concrete Walkway \$48.00 \$1,536.00 \$41.45 \$1,32 C-17 351 SY 6" HMAC Transition Pavement \$50.00 \$1,550.00 \$51.35 \$18,02 C-18 6 EA Rem. & Reconst. Brick Mailbox \$975.00 \$5,850.00 \$1,440.00 \$8,64 C-19 2 EA Adj. Manhole Rim & Replace Lid \$750.00 \$1,500.00 \$432.21 \$86 C-20 1 LS Remove & Replace Gate \$1,400.00 \$400.00			<u> </u>				ļ	\$14,283.06	
C-13 43 SY 7" Reinf. Concrete Driveway w/curb \$69.00 \$2,967.00 \$60.63 \$2,60 C-14 681 SY 6" Reinf. Concrete Driveway w/curb \$72.00 \$49,032.00 \$48.13 \$32,77 C-15 267 LF Reinf concrete Curb & Gutter \$8.50 \$2,269.50 \$31.36 \$8,37 C-16 32 SY 4" concrete Walkway \$48.00 \$1,536.00 \$41.45 \$1,32 C-17 351 SY 6" HMAC Transition Pavement \$50.00 \$17,550.00 \$51.35 \$18,02 C-18 6 EA Rem. & Reconst. Brick Mailbox \$975.00 \$5,850.00 \$1,440.00 \$8,64 C-19 2 EA Adj. Manhole Rim & Replace Lid \$750.00 \$1,500.00 \$432.21 \$86 C-20 1 LS Remove & Replace Gate \$1,400.00 \$400.00 \$2,875.00 \$2,87 C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$400.00 \$400.00 \$439.87 \$43	C-11	65	TON	Hydrated Lime for Base Preparation	\$200.00	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~	\$148.50	\$9,652.50	
C-14 681 SY 6" Reinf. Concrete Driveway w/curb \$72.00 \$49,032.00 \$48.13 \$32,77 C-15 267 LF Reinf concrete Curb & Gutter \$8.50 \$2,269.50 \$31.36 \$8,37 C-16 32 SY 4" concrete Walkway \$48.00 \$1,536.00 \$41.45 \$1,32 C-17 351 SY 6" HMAC Transition Pavement \$50.00 \$17,550.00 \$51.35 \$18,02 C-18 6 EA Rem. & Reconst. Brick Mailbox \$975.00 \$5,850.00 \$1,440.00 \$8,64 C-19 2 EA Adj. Manhole Rim & Replace Lid \$750.00 \$1,500.00 \$432.21 \$86 C-20 1 LS Remove & Replace Gate \$1,400.00 \$1,400.00 \$2,875.00 \$2,87 C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$400.00 \$400.00 \$439.87 \$43 C-22 500 TON Temp. Crushed Stone for Temp. Drives \$30.00 \$15,000.00 \$4.78 \$9,94 </td <td>C-12</td> <td>2941</td> <td>SY</td> <td>6" Reinf. Concrete Pavement w/curb</td> <td>\$64.00</td> <td>\$188,224.00</td> <td>\$38.43</td> <td>\$113,022.63</td>	C-12	2941	SY	6" Reinf. Concrete Pavement w/curb	\$64.00	\$188,224.00	\$38.43	\$113,022.63	
C-15 267 LF Reinf concrete Curb & Gutter \$8.50 \$2,269.50 \$31.36 \$8,37 C-16 32 SY 4" concrete Walkway \$48.00 \$1,536.00 \$41.45 \$1,32 C-17 351 SY 6" HMAC Transition Pavement \$50.00 \$17,550.00 \$51.35 \$18,02 C-18 6 EA Rem. & Reconst. Brick Mailbox \$975.00 \$5,850.00 \$1,440.00 \$8,64 C-19 2 EA Adj. Manhole Rim & Replace Lid \$750.00 \$1,500.00 \$432.21 \$86 C-20 1 LS Remove & Replace Gate \$1,400.00 \$1,400.00 \$2,875.00 \$2,87 C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$400.00 \$439.87 \$43 C-22 500 TON Temp. Crushed Stone for Temp. Drives \$30.00 \$15,000.00 \$36.92 \$18,46 C-23 2080 SY Topsoil for Street & Driveway Recon. \$10.50 \$21,840.00 \$4.78 \$9,94 C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.	C-13	43	SY	7" Reinf. Concrete Driveway w/curb	\$69.00	\$2,967.00	\$60.63	\$2,607.09	
C-16 32 SY 4" concrete Walkway \$48.00 \$1,536.00 \$41.45 \$1,32 C-17 351 SY 6" HMAC Transition Pavement \$50.00 \$17,550.00 \$51.35 \$18,02 C-18 6 EA Rem. & Reconst. Brick Mailbox \$975.00 \$5,850.00 \$1,440.00 \$8,64 C-19 2 EA Adj. Manhole Rim & Replace Lid \$750.00 \$1,500.00 \$432.21 \$86 C-20 1 LS Remove & Replace Gate \$1,400.00 \$1,400.00 \$2,875.00 \$2,87 C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$400.00 \$400.00 \$439.87 \$43 C-22 500 TON Temp. Crushed Stone for Temp. Drives \$30.00 \$15,000.00 \$36.92 \$18,46 C-23 2080 SY Topsoil for Street & Driveway Recon. \$10.50 \$21,840.00 \$4.78 \$9.94 C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.03 \$8,38	C-14	681	SY	6" Reinf. Concrete Driveway w/curb	\$72.00	\$49,032.00	\$48.13	\$32,776.53	
C-17 351 SY 6" HMAC Transition Pavement \$50.00 \$17,550.00 \$51.35 \$18,02 C-18 6 EA Rem. & Reconst. Brick Mailbox \$975.00 \$5,850.00 \$1,440.00 \$8,64 C-19 2 EA Adj. Manhole Rim & Replace Lid \$750.00 \$1,500.00 \$432.21 \$86 C-20 1 LS Remove & Replace Gate \$1,400.00 \$1,400.00 \$2,875.00 \$2,87 C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$400.00 \$400.00 \$439.87 \$43 C-22 500 TON Temp. Crushed Stone for Temp. Drives \$30.00 \$15,000.00 \$36.92 \$18,46 C-23 2080 SY Topsoil for Street & Driveway Recon. \$10.50 \$21,840.00 \$4.78 \$9,94 C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.03 \$8,38 C-25 3 EA Remove & Replace Street Sign \$250.00 \$750.00 \$766.67 \$2	C-15	267	LF	Reinf concrete Curb & Gutter	\$8.50	\$2,269.50	\$31.36	\$8,373.12	
C-18 6 EA Rem. & Reconst. Brick Mailbox \$975.00 \$5,850.00 \$1,440.00 \$8,64 C-19 2 EA Adj. Manhole Rim & Replace Lid \$750.00 \$1,500.00 \$432.21 \$86 C-20 1 LS Remove & Replace Gate \$1,400.00 \$1,400.00 \$2,875.00 \$2,87 C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$400.00 \$400.00 \$439.87 \$43 C-22 500 TON Temp. Crushed Stone for Temp. Drives \$30.00 \$15,000.00 \$36.92 \$18,46 C-23 2080 SY Topsoil for Street & Driveway Recon. \$10.50 \$21,840.00 \$4.78 \$9,94 C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.03 \$8,38 C-25 3 EA Remove & Replace Street Sign \$250.00 \$750.00 \$766.67 \$2,30 TOTAL PAVING IMPROVEMENTS \$465,159.50 \$492,74	C-16	32	SY	4" concrete Walkway	\$48.00	\$1,536.00	\$41.45	\$1,326.40	
C-19 2 EA Adj. Manhole Rim & Replace Lid \$750.00 \$1,500.00 \$432.21 \$86 C-20 1 LS Remove & Replace Gate \$1,400.00 \$1,400.00 \$2,875.00 \$2,87 C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$400.00 \$400.00 \$439.87 \$43 C-22 500 TON Temp. Crushed Stone for Temp. Drives \$30.00 \$15,000.00 \$36.92 \$18,46 C-23 2080 SY Topsoil for Street & Driveway Recon. \$10.50 \$21,840.00 \$4.78 \$9,94 C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.03 \$8,38 C-25 3 EA Remove & Replace Street Sign \$250.00 \$750.00 \$766.67 \$2,30 TOTAL PAVING IMPROVEMENTS \$465,159.50 \$492,74	C-17	351	SY	6" HMAC Transition Pavement	\$50.00	\$17,550.00	\$51.35	\$18,023.85	
C-20 1 LS Remove & Replace Gate \$1,400.00 \$1,400.00 \$2,875.00 \$2,87 C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$400.00 \$400.00 \$439.87 \$43 C-22 500 TON Temp. Crushed Stone for Temp. Drives \$30.00 \$15,000.00 \$36.92 \$18,46 C-23 2080 SY Topsoil for Street & Driveway Recon. \$10.50 \$21,840.00 \$4.78 \$9,94 C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.03 \$8,38 C-25 3 EA Remove & Replace Street Sign \$250.00 \$750.00 \$766.67 \$2,30 TOTAL PAVING IMPROVEMENTS \$465,159.50 \$492,74	C-18	6	EΑ	Rem. & Reconst. Brick Mailbox	\$975.00	\$5,850.00	\$1,440.00	\$8,640.00	
C-21 1 EA Locate & Adjust Sanitary Sewer Cleanout \$400.00 \$400.00 \$439.87 \$43 C-22 500 TON Temp. Crushed Stone for Temp. Drives \$30.00 \$15,000.00 \$36.92 \$18,46 C-23 2080 SY Topsoil for Street & Driveway Recon. \$10.50 \$21,840.00 \$4.78 \$9,94 C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.03 \$8,38 C-25 3 EA Remove & Replace Street Sign \$250.00 \$750.00 \$766.67 \$2,30 TOTAL PAVING IMPROVEMENTS \$465,159.50 \$492,74	C-19	2	EΑ	Adj. Manhole Rim & Replace Lid	\$750.00	\$1,500.00	\$432.21	\$864.42	
C-22 500 TON Temp. Crushed Stone for Temp. Drives \$30.00 \$15,000.00 \$36.92 \$18,46 C-23 2080 SY Topsoil for Street & Driveway Recon. \$10.50 \$21,840.00 \$4.78 \$9,94 C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.03 \$8,38 C-25 3 EA Remove & Replace Street Sign \$250.00 \$750.00 \$766.67 \$2,30 TOTAL PAVING IMPROVEMENTS \$465,159.50 \$492,74	C-20	1	LS	Remove & Replace Gate	\$1,400.00	\$1,400.00	\$2,875.00	\$2,875.00	
C-23 2080 SY Topsoil for Street & Driveway Recon. \$10.50 \$21,840.00 \$4.78 \$9,94 C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.03 \$8,38 C-25 3 EA Remove & Replace Street Sign \$250.00 \$750.00 \$766.67 \$2,30 TOTAL PAVING IMPROVEMENTS \$465,159.50 \$492,74	C-21	1	EΑ	Locate & Adjust Sanitary Sewer Cleanou	t \$400.00	\$400.00	\$439.87	\$439.87	
C-24 2080 SY Sod Disturbed Areas & Establish \$9.00 \$18,720.00 \$4.03 \$8,38 C-25 3 EA Remove & Replace Street Sign \$250.00 \$750.00 \$766.67 \$2,30 TOTAL PAVING IMPROVEMENTS \$465,159.50 \$492,74	C-22	500	TON	Temp. Crushed Stone for Temp. Drives	\$30.00	\$15,000.00	\$36.92	\$18,460.00	
C-25 3 EA Remove & Replace Street Sign \$250.00 \$750.00 \$766.67 \$2,30 TOTAL PAVING IMPROVEMENTS \$465,159.50 \$492,74	C-23	2080	SY	Topsoil for Street & Driveway Recon.	\$10.50	\$21,840.00	\$4.78	\$9,942.40	
TOTAL PAVING IMPROVEMENTS \$465,159.50 \$492,74	C-24	2080	SY	Sod Disturbed Areas & Establish	\$9.00	\$18,720.00	\$4.03	\$8,382.40	
	C-25	3	EA	Remove & Replace Street Sign	\$250.00	\$750.00	\$766.67	\$2,300.01	
	тот	AL PA\	/ING II	MPROVEMENTS		\$465,159.50		\$492,745.46	
TOTAL BID \$795.434.50 \$907.23		TOTAL	BID			\$795,434.50		\$907,230.72	